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Dividing by 10s with Decimals

Round to 2 decimal places when necessary.

1.77.3+40 =

2.96.3+80-= Tip

3.45.3+60-= Example: 66.5 + 60

4 579 +-70= Step 1: Divide by 10

5.83.6+60-= Step 2: Divide by 6

6.871:80= Step 3: Round fo 2 d p.
7.543+50=__
8.266+70=___
9.843+50=__

10. 76.8 + 60 =

Worksheet 3




Jambe  Answers

Dividing by 10s with Decimals

Round to 2 decimal places when necessary.

1.77.3+40=193

.96.3+80=12

Tip!
.45.3+60=0.76 Example: 66.5 + 60

. Bb79+-70=0.83 Step 1: Divide by 10

836:60=139  Step2:Dividebyo

'871:80=109 Step 3: Round to 2 d.p.
.43 +-50=1.09
. 256 +70=0.37
. 843 +50=1.69

10. 76.8 + 60 =128
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